Comprehension — 43
(PASSAGE)

Read the following passage carefully to answer these questions given below it.
India's understanding of trends in the WTO has tended to be dominated by ideology. There is an unstated belief that the developed world is driven primarily by a desire to create a global free market. In such a free market the developed world will necessarily have a clear advantage. It is then in the interests of the developing countries to resist such a market. And India has consistently tried no matter who rules in Delhi, to limit the WTO's agenda.

This approach may have had its uses in the past. The commitment of the developed world to free market was, perhaps, never total . Even at the height of the Cold War there were commodity agreements that sought to control global markets. But the ideological pressures of the Cold War ensured the West pushed for a global opening up of the markets. And the developing countries could be rallied around to resist this pressure. This Indian approach thus did pay limited dividends even in the early years of the Uruguay round.

But in the post-Cold War world, the developed countries' commitment to a free market has been reduced to occasional rhetoric. The extreme right in the United States is today staunchly protectionist. And most developed countries are seeking to create global trade rules that would open up other markets while protecting their own. As the interest of each developed country can be very different, there are inevitable trade-offs. These bargains are primarily among developed nations since they dominate world trade. But the one-country-one-vote system in the WTO  has forced the developed countries to woo small nations as well as the Least Developed Countries. The WTO has thus become
one large shop where countries can come up with demands that
have nothing to do with ideology.

Sticking to an ideological approach in this bargaining shop is clearly risky. Developing countries may come together on a specific issue to demonstrate their strength but could then abandon the alliance to make individual deals with the developed world. The combined power of developing countries brought implementation issues to the centre of the WTO's agenda. But Doha may well see many of them abandoning some implementation issues as a part of individual deals with the advanced world. India's commitment to implementation issues may then turn out to be no more than a stepping stone for other developing countries. 

In order to retain its alliance, India may find it necessary to woo other developing countries itself. It has demanded riles that allow other developing countries to raise protectionist barriers, even when these barriers are raised against Indian exporters. And it will be embarrassed by the clause in the draft ministerial declaration that calls for duty-free, quota-free markets access for products originating in the Least Developed Countries. While it may be possible to ensure that this demand is not made on other developing countries, Indian exporters will still need to compete against duty-free competition from the LDCs in the markets of the developed world.

India's concessions are, however, unlikely to offset the much more lucrative offers of the developed world. We cannot then completely rule out the possibility of India being isolated in Doha. In responding to such isolated the commerce minister will be hemmed in not just by his own rhetoric but also the positions adopted by the Opposition at home. Major opposition leaders are now openly calling for India to pull out of the WTO. Even if Mr. Maran does not do anything quite so rash, he may feel condemned to dig his heels in at Doha. And since the WTO
operates on consensus, a stubborn India could, in theory, cause the failure of the ministerial. 

But a failure at Doha would have consequences for the WTO itself. The failure of two successive ministerial will lead the more trade dependent countries to seek other alternatives. And many of them are in a position to create an alternative system based on regional blocks. India could then find itself facing a global trade environment where it has less of a say than it does in the WTO. 

Much of this disaster scenario can be avoided if India looks beyond ideology. It would then not be committed to developing alliances along. It could seek out allies in both the developed and developing worlds depending on the positions it takes. And these positions need not be defined by the ministerialism the developing country ideology demands.

There are a large number of areas where India is adopting rigid positions in the WTO that are contradictory to what exists at home. And this is not just a matter of binding import tariffs at the WTO at levels much higher than what we actually have at home. Trade union rights are well established at home, but we have fought hard, and successfully, to ensure the WTO does not require other countries to provide the same rights. We are discussing a competition bill in Parliament, but we are opposing the WTO ensuring global business follows some of these norms. 

India could yet remove its ideological shackles and make the best of the bargaining shop at Doha. As the leader of a political tradition that has abandoned its ideology in search of pragmatic political bargains, Mr. Maran is also well equipped to make this transition. It is just a matter of recognising that what works in Chennai can also work in Doha.

1. What inference you would draw from this passage?
    (a) World is better-off with the emergence of the WTO
    (b) WTO is beneficial for developed countries only
    (c) Indian state plays double standards
    (d) India should renounce ideological stands

2. The author suggests Mr. Maran to
    (a) Take a firm stand based on ideology 
    (b) Go with an open mind
    (c) Not to attend the WTO meet
    (d) None of these

3. As per the opinion of the author, the WTO is a
   (a) Platform for developed countries to further their interests
   (b) Means for development of least developed countries
   (c) A large bargaining shop
   (d) All of these

4. The passage states that the developed countries have a strong
    desire to promote a free global market.
    (a) True
    (b) False
    (c) Partially true
    (d) Neither true nor false

5. Which of the following titles would be the most suitable for the
    passage?
    (a) Ideology at Doha 
    (b) WTO and India
    (c) India's Role in WTO
    (d) India's WTO Agenda

6. The author mentions that in WTO, India has so far played a role
    to
    (a) Form alliance with countries
    (b) Oppose the formation of the WTO
    (c) Limit the agenda
    (d) Open up new vistas

7. It can be inferred that the passage was published during
   (a) Second week of November 2001
   (b) Third week of November 2001
   (c) Fourth week of November 2001
   (d) None of these

8. The primary purpose of the passage is 
    (a) Critical examination of WTO
    (b) Analysis of India's Role in WTO
    (c) Advise the Indian delegation
    (d) Stop India to play double standards

9. According to the passage, following the end of the Cold War,
    the need for free global market among the developed countries
    has
    (a) Taken a back seat
    (b) Increased 
    (c) Remained the same
    (d) Almost disappeared

10. The author feels that the one-country-one -vote system in the
     WTO has proved to be beneficial for
     (a) The powerful countries
     (b) The poor countries
     (c) All countries
     (d) No one
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